Name_______________________________





Per.  _____
Determine the pH, pOH, [H+], or [OH-] and write the answer in the blank to the left.

Then determine whether each solution is acidic (A), basic (B), or neutral (N).

Acid:  [H+] > [OH-] and pH < 7, pOH > 7

Base:  [H+] < [OH-] and pH > 7, pOH < 7
Neutral: [H+] = [OH-] and pH = 7 = pOH

      [H+]






             [OH-]
	0     1     2     3     4     5     6      7     8     9     10     11     12     13     14



[image: image1]
Which ion concentration is greater?  Which way does the seesaw tilt?
pH = - log [H+]

pOH = - log [OH-]

[H+] = 10 – pH 
[OH-] = 10 – pOH 
[H+] x [OH-] = 1.0 x 10 – 14 
pH + pOH = 14

___10_____ 1.  pH when pOH = 4.0





A / B / N ?
___  8_____ 2.  pH when [H+] = 1.0 x 10 – 8 




A / B / N ?
____10____ 3.  pOH when [OH-] = 1.0 x 10 – 10



A / B / N ?
____1 X 10-24.  [H+] when pH = 2.0





A / B / N ?
____8.26 __ 5.  pH when [H+] = 5.46 x 10 – 9 



A / B / N ?

_5.61X10-5_ 6.  [OH-] when [H+] = 1.78 x 10 – 10 



A / B / N ?

_4.61 _____ 7.  pH when [H+] = 2.45 x 10 – 5 



A / B / N ?
__3.3 _____ 8.  pOH of a solution with pH = 10.7



A / B / N ?
__6.3X10-9_ 9.  [H+] when pH = 8.2





A / B / N ?
3.66 X 10-9_ 10. [H+] when [OH-] = 2.73 x 10 – 6 



A / B / N ?
_7.19_____ 11. pH of sol’n w/ 3.2 x 10 – 8 moles H+ / 500. mL sol’n
A / B / N ?
_.42______ 12. pH of sol’n w/ 9.4 x 10 – 2 moles H+ / 250. mL sol’n
A / B / N ?
_6________ 13. pH when [H+] = 1.0 x 10 – 6 




A / B / N ?
_10.22 ____ 15. If pH = 3.78, pOH = ?




A / B / N ?
3.07 ______ 16. pH of a solution with [H+] = 8.54 x 10 – 4 

A / B / N ?

_-1.03_____ 17. pH of sol’n w/ 4.3 moles H+ / 400. mL sol’n

A / B / N ?
_8.3______ 18. pOH of sol’n w/ 2.3 x 10 – 9 moles OH- / 500.mL sol’nA / B / N ?
_1.25X10-5_ 19. [OH-] when pOH = 4.90




A / B / N ?
_2.12_____ 20. pOH when [OH-] = 7.50 x 10 – 3 



A / B / N ?
